


50

1628
11.5m

1279

1053
10




archimedes,BC287 BC212

Q







ON FROATING BODIES BOOK

Proposition2 Propositionl

If a right segment of a paraboloid of revolution whose azis 1s
not greater than % p (where p is the principal parameter of the
generating parabola), and whose specific gravity is less than that
of a flurd, be placed wn the fluid with its axvs inclined to the
vertical at any angle, but so that the base of the segment does not
touch the surface of the fluid, the segment of the parabolovd will

not remain wn that position but will return to the position in
which its awxis 18 vertical.

right segment of a paraboloid of revolution: specific gravity: fluid:
incline to: vertical:
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ON FROATING BODIES BOOK

Propositionl

If a solid lighter than o flutd be at rest wn i, the weight of
the solid unll be to that of the same volume of the fluid as the
1mmersed portion of the solid is to the whole.

Let (4 + B) be the solid, B the portion immersed in the A+B B
fluid.
Let (C+ D) be an equal volume of the fluid, ¢' being equal C+D
in volume to 4 and B to D.
Further suppose the line K to represent the weight of the C A
solid (4 + B), (F + ) to represent the weight of (C'+.D), and B D
G that of . A+B
E : E C+D F+G
5 ' D G
<
: f ; A+B C+D
E F+G
: A+B
Then B D

weight of (4 + B) : weight of (C+D)=E : (F+ @)...(1).
And the weight of (4 +B) is equal to the weight of a
volume B of the fluid [L 5], ie. to the weight of D.

: E=G
That is to say, £=G.
Hence, by (1),
: : A+B Cc+D
weight of (A + B) : weight of (C+ D)=G : F+ @&

G F+G
=D:C+D D C+D
=B:4+B8.

B A+B
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